Write each number in expanded notation.

1 17814= _| tenthousand thousands _~ hundreds _ ten _ ones
2 24836 = _l_ ten thousands _~  thousands ' hundreds - tens  ones
'3 37942= _ ' tenthousands - thousands _| hundreds _~  tens . ones
4 72043 = _*+ ten thousands i thousands _ . hundreds _ tens  ones
5 92128 = _S_ ten thousands _.l« thousands | hundred = tens . ones

5_ ten thousands _‘J; thousands _ . hundreds _ tens - ones

i ten thousands _:._ thousands__?_ hundreds .. tens ™~ ones
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Write the expanded form of each of the followM
C N

0000 ¢+ 2000 +9np 004 Y

2 (83075 ) = 30600+ A0 %—q'— Ot &

3 (71007) - ’-Wmo()ﬁ-ﬁ )" Dt ) »‘-; | e
4 (85570 ) - 40000 ¢ 50\,0%500;"1 04+

5 (&2685) - L0000 YO0 FLO0F bp 4 &

Compact Form

Express 20000 + 7000 + 400 + 90 + 1 in compact form (

short form),
Answer : 20000 + 7000 + 400 + 90 + 1 = 27491

Exercise 2(N)

Express in compact form.

1 10000 + 7000

+ 500 + 0

2 40000 + DRS00 80

00 &5 0 4 4 = ‘t“‘ j

= 800. % 60

-3 60000 + 1000

4 10000 + 4000

90000 7000
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place Value bt
@ Write the place value of 3 in 35451,
' 3 is in the ten thousands' place, so the place value of 3 = 30000,

Exercise 2(0)

1. Write the place value of the coloured digits.

Number Place Value Number Place Value
(a) 47878 U000 (b) 28743
(c) 58791 QOO (d) 60847

N\

() 78918 2(2 000 (fy 82040
(g) 60942 = OO0 . (h) 91919

2. (a) Write the place value of digit 5 in the following numbers.

(i) 58418 (ii) 68715 (iif) 71581 (iv) 65402 (v) 21650
30000 5 B2t =000
~ (b) Write the place value of digit 9 in the following numbers.
(i) 49718 (i) 63092 (i) 39415 (iv) 92166 (v) 84917

A AP\ .

Nrite the place value of digit 7 in the following numbers.
: (ii) 78214 (iii) 67118 (iv) 24017 (v) 38478

20000 2000 s AR





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

